# The Solutions of the Periodic Rational Recursive Systems 

## Research Article

K. Uslu* and E. Kilic<br>Department of Mathematics, Selcuk University, Science Faculty, 42075, Campus, Konya, Turkey<br>*Corresponding author: kuslu@selcuk.edu.tr


#### Abstract

In this study, we obtain the solutions of some periodic rational difference equation systems. Then we examinate the period of solutions of these systems.


Keywords. Periodic discrete system; Non-linear discrete system
MSC. 39A10; 39A23
Received: March 18, $2016 \quad$ Accepted: August 8, 2016
Copyright © 2016 K. Uslu and E. Kilic. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

Rational recursive systems are also called rational difference equation systems. These systems have been studied in many branches of mathematics as well as other sciences for the years. There are many applications in several branches of science [1, 2, 3, 4, 7, 9]. These types seem very simple and some of their properties can also be observed and conjectured by computers simulations, however, it is extremely difficult to prove completely the properties observed and conjectured by computers simulation, for example, see [5, 6, 10]. In this study, we consider the following systems by using the results in [8]

$$
\begin{align*}
& x_{n+1}=\frac{A y_{n-1}}{y_{n}\left(y_{n-2}+z_{n-2}\right)}+\frac{B}{y_{n-1}+z_{n-1}}, \quad y_{n+1}=\frac{B}{y_{n-1}+z_{n-1}},  \tag{1.1}\\
& z_{n+1}=\frac{C}{x_{n-1}-y_{n-1}}-\frac{B}{y_{n-1}+z_{n-1}}, \quad(0 \leq n), \tag{1.2}
\end{align*}
$$

with initial values $x_{-1}, x_{0}, y_{-2}, y_{-1}, y_{0}, z_{-2}, z_{-1}, z_{0}, A, B, C \in \mathbb{R}^{+},\left(x_{-1} \neq y_{-1}, x_{0} \neq y_{0}\right)$ and

$$
\begin{equation*}
x_{n+1}=\frac{A y_{n-1}}{y_{n}\left(y_{n-3}+z_{n-3}\right)}+\frac{B}{y_{n-2}+z_{n-2}}, \quad y_{n+1}=\frac{B}{y_{n-2}+z_{n-2}}, \tag{1.3}
\end{equation*}
$$

$$
\begin{equation*}
z_{n+1}=\frac{C}{x_{n-2}-y_{n-2}}-\frac{B}{y_{n-2}+z_{n-2}}, \quad(0 \leq n) \tag{1.4}
\end{equation*}
$$

with initial values $x_{-2}, x_{-1}, x_{0}, y_{-3}, y_{-2}, y_{-1}, y_{0}, z_{-3}, z_{-2}, z_{-1}, z_{0}, A, B, C \in \mathbb{R}^{+},\left(x_{-2} \neq y_{-2}, x_{-1} \neq\right.$ $y_{-1}, x_{0} \neq y_{0}$ ).

Firstly, we give basic preliminary definitions and a theorem. Let $I_{1}, I_{2}$ and $I_{3}$ be some intervals of real numbers and let $F_{1}: I_{2} \times I_{3} \rightarrow I_{1}, F_{2}: I_{2} \times I_{3} \rightarrow I_{2}$ and $F_{3}: I_{1} \times I_{2} \times I_{3} \rightarrow I_{3}$ be three continuously differentiable functions. For every initial condition $\left(x_{s}, y_{s}, z_{s}\right) \in I_{1} \times I_{2} \times I_{3}$, it is obvious that the system of difference equations (1.3)

$$
\begin{equation*}
x_{n+1}=F_{1}\left(y_{n}, z_{n}\right), \quad y_{n+1}=F_{2}\left(y_{n}, z_{n}\right), \quad z_{n+1}=F_{3}\left(x_{n}, y_{n}, z_{n}\right) \tag{1.5}
\end{equation*}
$$

has a unique solution $\left\{x_{n}, y_{n}, z_{n}\right\}$.

- A solution $\left\{x_{n}, y_{n}, z_{n}\right\}$ of the system of difference equations (1.3) is periodic if there exist a positive integer $p$ such that

$$
x_{n+p}=x_{n}, \quad y_{n+p}=y_{n}, \quad z_{n+p}=z_{n},
$$

the smallest such positive integer $p$ is called the prime period of the solution of difference equation system (1.3).

- A point $(\bar{x}, \bar{y}, \bar{z}) \in I_{1} \times I_{2} \times I_{3}$ is called an equilibrium point of system (1.3), if

$$
\bar{x}=F_{1}(\bar{y}, \bar{z}), \quad \bar{y}=F_{2}(\bar{y}, \bar{z}), \quad \bar{z}=F_{3}(\bar{x}, \bar{y}, \bar{z}) .
$$

- The equilibrium point ( $\bar{x}, \bar{y}, \bar{z}$ ) of the difference equation system (1.3) is called stable (or locally stable), if for every $\varepsilon>0$, there exist $\delta>0$ such that for all ( $\left.x_{s}, y_{s}, z_{s}\right) \in I_{1} \times I_{2} \times I_{3}$ with

$$
\left\|\left(x_{s}, y_{s}, z_{s}\right)-(\bar{x}, \bar{y}, \bar{z})\right\|<\delta \quad \text { implies } \quad\left\|\left(x_{n}, y_{n}, z_{n}\right)-(\bar{x}, \bar{y}, \bar{z})\right\|<\varepsilon
$$

for all $n \geq 0$. Otherwise equilibrium point is called unstable.

- The equilibrium point ( $\bar{x}, \bar{y}, \bar{z}$ ) of the difference equation system (1.3) is called asymptotically stable (or locally asymptotically stable), if it is stable and there exist $\gamma>0$ such that for all $\left(x_{s}, y_{s}, z_{s}\right) \in I_{1} \times I_{2} \times I_{3}$ with

$$
\left\|\left(x_{s}, y_{s}, z_{s}\right)-(\bar{x}, \bar{y}, \bar{z})\right\|<\gamma \quad \text { implies } \quad \lim _{n \rightarrow \infty}\left\|\left(x_{n}, y_{n}, z_{n}\right)-(\bar{x}, \bar{y}, \bar{z})\right\|=0 .
$$

- The equilibrium point $(\bar{x}, \bar{y}, \bar{z})$ of the difference equation system (1.3) is called global asymptotically stable, if it is stable and for every $\left(x_{s}, y_{s}, z_{s}\right) \in I_{1} \times I_{2} \times I_{3}$ we have

$$
\lim _{n \rightarrow \infty}\left\|\left(x_{n}, y_{n}, z_{n}\right)-(\bar{x}, \bar{y}, \bar{z})\right\|=0 .
$$

- Let $I_{1} \times I_{2} \times I_{3}$ be an interval of real numbers. For all initial values $x_{-2}, x_{-1}, x_{0} \in I_{1}$, $y_{-3}, y_{-2}, y_{-1}, y_{0} \in I_{2}$ and $z_{-3}, z_{-2}, z_{-1}, z_{0} \in I_{3},\left(x_{-2} \neq y_{-2}, x_{-1} \neq y_{-1}, x_{0} \neq y_{0}\right)$, if we have

$$
\lim _{n \rightarrow \infty}\left\|\left(x_{n}, y_{n}, z_{n}\right)\right\|=(\bar{x}, \bar{y}, \bar{z}),
$$

then the equilibrium point $(\bar{x}, \bar{y}, \bar{z})$ of the system of difference equations (1.3) is global attractor [7, 9].

## 2. Main results

In this section all results have been obtained by using [8]. The following theorems show us the period of solutions of the systems (1.1)-(1.2) and (1.3)-(1.4).

Theorem 2.1. Suppose that $\left\{x_{n}, y_{n}, z_{n}\right\}$ are the solutions of the difference equation system (1.1)(1.2). All solutions of the system (1.1)-(1.2) are periodic with period 6 if and only if $A=C$.

Proof. From the system (1.1)-(1.2), it is obtained the following equalities

$$
\begin{aligned}
& x_{n+1}=\frac{A y_{n-1}}{y_{n}\left(y_{n-2}+z_{n-2}\right)}+\frac{B}{y_{n-1}+z_{n-1}}, \\
& y_{n+1}=\frac{B}{y_{n-1}+z_{n-1}}, \\
& z_{n+1}=\frac{C}{x_{n-1}-y_{n-1}}-\frac{B}{y_{n-1}+z_{n-1}}, \\
& x_{n+2}=\frac{A y_{n}}{B}+\frac{B}{y_{n}+z_{n}}, \\
& y_{n+2}=\frac{B}{y_{n}+z_{n}}, \\
& z_{n+2}=\frac{C}{x_{n}-y_{n}}+\frac{B}{y_{n}+z_{n}}, \\
& x_{n+3}=\frac{A}{y_{n-1}+z_{n-1}}+\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& y_{n+3}=\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& z_{n+3}=\frac{C y_{n}\left(y_{n-2}+z_{n-2}\right)}{A y_{n-1}}-\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& x_{n+4}=\frac{A}{y_{n}+z_{n}}+\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& y_{n+4}=\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& z_{n+4}=\frac{B C}{A y_{n}}-\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& x_{n+5}=\frac{A\left(x_{n-1}-y_{n-1}\right)}{C}+\frac{B A y_{n-1}}{C y_{n}\left(y_{n-2}+z_{n-2}\right)}, \\
& y_{n+5}=\frac{B A y_{n-1}}{C y_{n}\left(y_{n-2}+z_{n-2}\right)}, \\
& z_{n+5}=\frac{C\left(y_{n-1}+z_{n-1}\right)}{A}-\frac{B A y_{n-1}}{C y_{n}\left(y_{n-2}+z_{n-2}\right)}, \\
& x_{n+6}=\frac{A}{C\left(x_{n}-y_{n}\right)+\frac{A}{C} y_{n}=\frac{A}{C} x_{n},} \\
& y_{n+6}=\frac{A}{C} y_{n}, z_{n+6}=\frac{C}{A}\left(y_{n}+z_{n}\right)-\frac{A}{C} y_{n} . \\
& x_{n} \\
& y_{n}
\end{aligned},
$$

From $A=C$, all solutions of the system (1.1)-(1.2) are periodic with 6 period. Thus we have

$$
x_{n+6}=x_{n}, \quad y_{n+6}=y_{n}, \quad z_{n+6}=z_{n} .
$$

Theorem 2.2. Suppose that $\left\{x_{n}, y_{n}, z_{n}\right\}$ are the solutions of the difference equation system (1.3)(1.4). All solutions of the system (1.3)-(1.4) are periodic with period 8 if and only if $A=C$.

Proof. From the system (1.3)-(1.4), it is obtained the following equalities

$$
\begin{aligned}
& x_{n+1}=\frac{A y_{n-1}}{y_{n}\left(y_{n-3}+z_{n-3}\right)}+\frac{B}{y_{n-2}+z_{n-2}}, \\
& y_{n+1}=\frac{B}{y_{n-2}+z_{n-2}}, \\
& z_{n+1}=\frac{C}{x_{n-2}-y_{n-2}}-\frac{B}{y_{n-2}+z_{n-2}}, \\
& x_{n+2}=\frac{A y_{n}}{B}+\frac{B}{y_{n-1}+z_{n-1}}, \\
& y_{n+2}=\frac{B}{y_{n-1}+z_{n-1}}, \\
& z_{n+2}=\frac{C}{x_{n-1}-y_{n-1}}-\frac{B}{y_{n-1}+z_{n-1}}, \\
& x_{n+3}=\frac{A}{y_{n-2}+z_{n-2}}+\frac{B}{y_{n}+z_{n}}, \\
& y_{n+3}=\frac{B}{y_{n}+z_{n}}, \\
& z_{n+3}=\frac{C}{x_{n}-y_{n}}-\frac{B}{y_{n}+z_{n}}, \\
& x_{n+4}=\frac{A}{y_{n-1}+z_{n-1}}+\frac{B\left(x_{n-2}-y_{n-2}\right)}{C}, \\
& y_{n+4}=\frac{B\left(x_{n-2}-y_{n-2}\right)}{C}, \\
& z_{n+4}=\frac{C y_{n}\left(y_{n-3}+z_{n-3}\right)}{A y_{n-1}}-\frac{B\left(x_{n-2}-y_{n-2}\right)}{C}, \\
& x_{n+5}=\frac{A}{y_{n}+z_{n}}+\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& y_{n+5}=\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& z_{n+5}=\frac{C B}{A y_{n}}-\frac{B\left(x_{n-1}-y_{n-1}\right)}{C}, \\
& x_{n+6}=\frac{A\left(x_{n-2}-y_{n-2}\right)}{C}+\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& y_{n+6}=\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& x_{n}
\end{aligned},
$$

$$
\begin{aligned}
& z_{n+6}=\frac{C\left(y_{n-2}+z_{n-2}\right)}{A}-\frac{B\left(x_{n}-y_{n}\right)}{C}, \\
& x_{n+7}=\frac{A\left(x_{n-1}-y_{n-1}\right)}{C}+\frac{A B y_{n-1}}{C y_{n}\left(y_{n-3}+z_{n-3}\right)}, \\
& y_{n+7}=\frac{A B y_{n-1}}{C y_{n}\left(y_{n-3}+z_{n-3}\right)}, \\
& z_{n+7}=\frac{C\left(y_{n-1}+z_{n-1}\right)}{A}-\frac{A B y_{n-1}}{C y_{n}\left(y_{n-3}+z_{n-3}\right)}, \\
& x_{n+8}=\frac{A}{C}\left(x_{n}-y_{n}\right)+\frac{A}{C} y_{n}=\frac{A}{C} x_{n}, \\
& y_{n+8}=\frac{A}{C} y_{n}, z_{n+8}=\frac{C}{A}\left(y_{n}+z_{n}\right)-\frac{A}{C} y_{n} .
\end{aligned}
$$

From $A=C$, all solutions of the system (1.3)-(1.4) are periodic with 8 period. Thus we have

$$
x_{n+8}=x_{n}, \quad y_{n+8}=y_{n}, \quad z_{n+8}=z_{n} .
$$

Theorem 2.3. Suppose that $\left\{x_{n}, y_{n}, z_{n}\right\}$ are the solutions of the difference equation system (1.1)(1.2) with initial values $x_{-1}=a, x_{0}=b, y_{-2}=c, y_{-1}=d, y_{0}=e, z_{-2}=f, z_{-1}=g, z_{0}=h, A, B, C$ $\left(x_{-1} \neq y_{-1}, x_{0} \neq y_{0}\right) \in \mathbb{R}^{+}$. For $n \geq 0$, all solutions of the system (1.1)-(1.2) are periodic with period 6

$$
\begin{aligned}
& x_{6 n+1}=\frac{A d}{e(c+f)}+\frac{B}{d+g}, \\
& y_{6 n+1}=\frac{B}{d+g}, \\
& z_{6 n+1}=\frac{A}{a-d}-\frac{B}{d+g}, \\
& x_{6 n+2}=\frac{A e}{B}+\frac{B}{e+h}, \\
& y_{6 n+2}=\frac{B}{e+h}, \\
& z_{6 n+2}=\frac{A}{b-e}+\frac{B}{e+h}, \\
& x_{6 n+3}=\frac{A}{d+g}+\frac{B(a-d)}{A}, \\
& y_{6 n+3}=\frac{B(a-d)}{A}, \\
& z_{6 n+3}=\frac{A e(c+f)}{A d}-\frac{B(a-d)}{A}, \\
& x_{6 n+4}=\frac{A}{e+h}+\frac{B(b-e)}{A}, \\
& y_{6 n+4}=\frac{B(b-e)}{A}, \\
& z_{8 n+4}=\frac{B}{e}-\frac{B(b-e)}{A},
\end{aligned}
$$

$$
\begin{aligned}
& x_{6 n+5}=(b-e)+\frac{B d}{e(c+f)}, \\
& y_{6 n+5}=\frac{B d}{e(c+f)}, \\
& z_{6 n+5}=(d+g)-\frac{B d}{e(c+f)}, \\
& x_{6 n+6}=b, \\
& y_{6 n+6}=e, \\
& z_{6 n+6}=h .
\end{aligned}
$$

if and only if $A=C$.

Proof. Let us use the principle of mathematical induction on $n$. For $n=0$, it is easy to see. Assume that it is true for all positive integers $n$. From the system (1.1)-(1.2), it is obtained the following equalities

$$
\begin{aligned}
& x_{6 n+7}=\frac{A y_{6 n+5}}{y_{6 n+6}\left(y_{6 n+4}+z_{6 n+4}\right)}+\frac{B}{y_{6 n+5}+z_{6 n+5}}=\frac{A d}{e(c+f)}+\frac{B}{d+g}, \\
& y_{6 n+7}=\frac{B}{y_{6 n+5}+z_{6 n+5}}=\frac{B}{d+g}, \\
& z_{6 n+7}=\frac{C}{x_{6 n+5}-y_{6 n+5}}-\frac{B}{y_{6 n+5}+z_{6 n+5}}=\frac{A}{a-d}-\frac{B}{d+g}, \\
& x_{6 n+8}=\frac{A y_{6 n+6}}{B}+\frac{B}{y_{6 n+6}+z_{6 n+6}}=\frac{A e}{B}+\frac{B}{e+h}, \\
& y_{6 n+8}=\frac{B}{y_{6 n+6}+z_{6 n+6}}=\frac{B}{e+h}, \\
& z_{6 n+8}=\frac{C}{x_{6 n+6}-y_{6 n+6}}+\frac{B}{y_{6 n+6}+z_{6 n+6}}=\frac{A}{b-e}+\frac{B}{e+h}, \\
& x_{6 n+9}=\frac{A}{y_{6 n+5}+z_{6 n+5}}+\frac{B\left(x_{6 n+5}-y_{6 n+5}\right)}{C}=\frac{A}{d+g}+\frac{B(a-d)}{A}, \\
& y_{6 n+9}=\frac{B\left(x_{6 n+5}-y_{6 n+5}\right)}{C}=\frac{B(a-d)}{A}, \\
& z_{6 n+9}=\frac{C y_{6 n+6}\left(y_{6 n+4}+z_{6 n+4}\right)}{A y_{n-1}}-\frac{B\left(x_{6 n+5}-y_{6 n+5}\right)}{C}=\frac{A e(c+f)}{A d}-\frac{B(a-d)}{A}, \\
& x_{6 n+10}=\frac{A}{y_{6 n+6}+z_{6 n+6}}+\frac{B\left(x_{6 n+6}-y_{6 n+6}\right)}{C}=\frac{A}{e+h}+\frac{B(b-e)}{A}, \\
& y_{6 n+10}=\frac{B\left(x_{6 n+6}-y_{6 n+6}\right)}{C}=\frac{B(b-e)}{A}, \\
& z_{6 n+10}=\frac{B C}{A y_{6 n+6}-\frac{B\left(x_{6 n+6}-y_{6 n+6}\right)}{C}=\frac{B}{e}-\frac{B(b-e)}{A},} \\
& x_{6 n+11}=\frac{A\left(x_{6 n+5}-y_{6 n+5}\right)}{C}+\frac{B A y_{6 n+5}}{C y_{6 n+6}\left(y_{6 n+4}+z_{6 n+4}\right)}=(b-e)+\frac{B d}{e(c+f)},
\end{aligned}
$$

$$
\begin{aligned}
& y_{6 n+11}=\frac{B A y_{6 n+5}}{C y_{6 n+6}\left(y_{6 n+4}+z_{6 n+4}\right)}=\frac{B d}{e(c+f)}, \\
& z_{6 n+11}=\frac{C\left(y_{6 n+5}+z_{6 n+5}\right)}{A}-\frac{B A y_{6 n+5}}{C y_{6 n+6}\left(y_{6 n+4}+z_{6 n+4}\right)}=(d+g)-\frac{B d}{e(c+f)}, \\
& x_{6 n+12}=\frac{A}{C} x_{6 n+6}, \\
& y_{6 n+12}=\frac{A}{C} y_{6 n+6}, \\
& z_{6 n+12}=\frac{C}{A}\left(y_{6 n+6}+z_{6 n+6}\right)-\frac{A}{C} y_{6 n+6} .
\end{aligned}
$$

From $A=C$, all solutions of the system (1.1)-(1.2) are periodic with 6 period. Thus we have

$$
x_{6 n+12}=b, \quad y_{6 n+12}=e, \quad z_{6 n+12}=h .
$$

Therefore we have the required formulates on $n$.
Theorem 2.4. Suppose that $\left\{x_{n}, y_{n}, z_{n}\right\}$ are the solutions of the difference equation system (1.3)(1.4) with initial values $x_{-2}=a, x_{-1}=b, x_{0}=c, y_{-3}=d, y_{-2}=e, y_{-1}=f, y_{0}=g, z_{-3}=h$, $z_{-2}=p, z_{-1}=r, z_{0}=s, A, B, C\left(x_{-2} \neq y_{-2}, x_{-1} \neq y_{-1}, x_{0} \neq y_{0}\right) \in \mathbb{R}^{+}$. For $n \geq 0$, all solutions of the system (1.3)-(1.4) are periodic with period 8

$$
\begin{aligned}
& x_{8 n+1}=\frac{A f}{g(d+h)}+\frac{B}{e+p}, \\
& y_{8 n+1}=\frac{B}{e+p}, \\
& z_{8 n+1}=\frac{A}{a-e}-\frac{B}{e+p}, \\
& x_{8 n+2}=\frac{A g}{B}+\frac{B}{f+r}, \\
& y_{8 n+2}=\frac{B}{f+r}, \\
& z_{8 n+2}=\frac{A}{b-f}-\frac{B}{f+r}, \\
& x_{8 n+3}=\frac{A}{e+p}+\frac{B}{g+s}, \\
& y_{8 n+3}=\frac{B}{g+s}, \\
& z_{8 n+3}=\frac{A}{c-g}-\frac{B}{g+s}, \\
& x_{8 n+4}=\frac{A}{f+r}+\frac{B(a-e)}{A}, \\
& y_{8 n+4}=\frac{B(a-e)}{A},
\end{aligned}
$$

$$
\begin{aligned}
& z_{8 n+4}=\frac{g(d+h)}{f}-\frac{B(a-e)}{A}, \\
& x_{8 n+5}=\frac{A}{g+s}+\frac{B(b-f)}{A}, \\
& y_{8 n+5}=\frac{B(b-f)}{A}, \\
& z_{8 n+5}=\frac{B}{g}-\frac{B(b-f)}{A}, \\
& x_{8 n+6}=(a-e)+\frac{B(c-g)}{A}, \\
& y_{8 n+6}=\frac{B(c-g)}{A}, \\
& z_{8 n+6}=(e+p)-\frac{B(c-g)}{A}, \\
& x_{8 n+7}=(b-f)+\frac{B f}{g(d+h)}, \\
& y_{8 n+7}=\frac{B f}{g(d+h)}, \\
& z_{8 n+7}=(f+r)-\frac{B f}{g(d+h)}, \\
& x_{8 n+8}=c, \\
& y_{8 n+8}=g, \\
& z_{8 n+8}=s .
\end{aligned}
$$

if and only if $A=C$.

Proof. Let us use the principle of mathematical induction on $n$. For $n=0$, it is easy to see. Assume that it is true for all positive integers $n$. From the system (1.3)-(1.4), it is obtained the following equalities

$$
\begin{aligned}
& x_{8 n+9}=\frac{A y_{8 n+7}}{y_{8 n+8}\left(y_{8 n+5}+z_{8 n+5}\right)}+\frac{B}{y_{8 n+6}+z_{8 n+6}}=\frac{A f}{g(d+h)}+\frac{B}{e+p}, \\
& y_{8 n+9}=\frac{B}{y_{8 n+6}+z_{8 n+6}}=\frac{B}{e+p}, \\
& z_{8 n+9}=\frac{C}{x_{8 n+6}-y_{8 n+6}}-\frac{B}{y_{8 n+6}+z_{8 n+6}}=\frac{A}{a-e}-\frac{B}{e+p}, \\
& x_{8 n+10}=\frac{A y_{8 n+8}}{B}+\frac{B}{y_{8 n+7}+z_{8 n+7}}=\frac{A g}{B}+\frac{B}{f+r}, \\
& y_{8 n+10}=\frac{B}{y_{8 n+7}+z_{8 n+7}}=\frac{B}{f+r}, \\
& z_{8 n+10}=\frac{C}{x_{8 n+7}-y_{8 n+7}}-\frac{B}{y_{8 n+7}+z_{8 n+7}}=\frac{A}{b-f}-\frac{B}{f+r},
\end{aligned}
$$

$$
\begin{aligned}
& x_{8 n+11}=\frac{A}{y_{8 n+6}+z_{8 n+6}}+\frac{B}{y_{8 n+8}+z_{8 n+8}}=\frac{A}{e+p}+\frac{B}{g+s}, \\
& y_{8 n+11}=\frac{B}{y_{8 n+8}+z_{8 n+8}}=\frac{B}{g+s}, \\
& z_{8 n+11}=\frac{C}{x_{8 n+8}-y_{8 n+8}}-\frac{B}{y_{8 n+8}+z_{8 n+8}}=\frac{A}{c-g}-\frac{B}{g+s}, \\
& x_{8 n+12}=\frac{A}{y_{8 n+7}+z_{8 n+7}}+\frac{B\left(x_{8 n+6}-y_{8 n+6}\right)}{C}=\frac{A}{f+r}+\frac{B(a-e)}{A}, \\
& y_{8 n+12}=\frac{B\left(x_{8 n+6}-y_{8 n+6}\right)}{C}=\frac{B(a-e)}{A}, \\
& z_{8 n+12}=\frac{C y_{8 n+8}\left(y_{8 n+5}+z_{8 n+5}\right)}{A y_{8 n+7}}-\frac{B\left(x_{8 n+6}-y_{8 n+6}\right)}{C}=\frac{g(d+h)}{f}-\frac{B(a-e)}{A}, \\
& x_{8 n+13}=\frac{A}{y_{8 n+8}+z_{8 n+8}}+\frac{B\left(x_{8 n+7}-y_{8 n+7}\right)}{C}=\frac{A}{g+s}+\frac{B(b-f)}{A}, \\
& y_{8 n+13}=\frac{B\left(x_{8 n+7}-y_{8 n+7}\right)}{C}=\frac{B(b-f)}{A}, \\
& z_{8 n+13}=\frac{C B}{A y_{8 n+8}-\frac{B\left(x_{8 n+7}-y_{8 n+7}\right)}{C}=\frac{B}{g}-\frac{B(b-f)}{A},} \\
& x_{8 n+14}=\frac{A\left(x_{8 n+6}-y_{8 n+6}\right)}{C}+\frac{B\left(x_{8 n+8}-y_{8 n+8}\right)}{C}=(a-e)+\frac{B(c-g)}{A}, \\
& y_{8 n+14}=\frac{B\left(x_{8 n+8}-y_{8 n+8}\right)}{C}=\frac{B(c-g)}{A}, \\
& z_{8 n+14}=\frac{C\left(y_{8 n+6}+z_{8 n+6}\right)}{A}-\frac{B\left(x_{8 n+8}-y_{8 n+8}\right)}{C}=(e+p)-\frac{B(c-g)}{A}, \\
& x_{8 n+15}=\frac{A\left(x_{8 n+7}-y_{8 n+7}\right)}{C}+\frac{A B y_{8 n+7}}{C y_{8 n+8}\left(y_{8 n+5}+z_{8 n+5}\right)}=(b-f)+\frac{B f}{g(d+h)}, \\
& y_{8 n+15}=\frac{B f}{C y_{8 n+8}\left(y_{8 n+5}+z_{8 n+5)}=\frac{A B(d+h)}{g(d+7},\right.} \\
& z_{8 n+15}=\frac{C\left(y_{8 n+7}+z_{8 n+7}\right)}{A}-\frac{A B y_{8 n+7}}{C y_{8 n+8}\left(y_{8 n+5}+z_{8 n+5}\right)}=(f+r)-\frac{B f}{g(d+h)}, \\
& x_{8 n+16}=\frac{A}{C} c, \\
& y_{8 n+16}=\frac{A}{C} g, \\
& z_{8 n+16}=\frac{C}{A}(g+s)-\frac{A}{C} g . \\
& A
\end{aligned},
$$

From $A=C$, all solutions of the system (1.3)-(1.4) are periodic with 8 period. Thus we have

$$
x_{8 n+16}=c, \quad y_{8 n+16}=g, \quad z_{8 n+16}=s .
$$

Therefore we have the required formulates on $n$.

## 3. Conclusion

The difference systems given in (1.1)-(1.2) and (1.3)-(1.4) can be generalized to high order difference system. Thus the solutions and period of this new system can be examinated again.

## Competing Interests

The authors declare that they have no competing interests.

## Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

[1] C. Cinar and I. Yalcinkaya, On the positive solutions of difference equation system $x_{n+1}=\frac{1}{z_{n}}$, $y_{n+1}=\frac{1}{x_{n-1} y_{n-1}}, z_{n+1}=\frac{1}{x_{n-1}}$, International Mathematical Journal 5 (2004), 525-527.
[2] D. Clark and M.R.S. Kulenovic, A coupled system of rational difference equations, Computers and Mathematics with Applications 43 (2002), 849-867.
[3] B. Iricanin and S. Stevic, Some systems of non-linear difference equations of higher order with periodic solutions, Dynamic of Continuous, Discrete and Impulse Systems, Series A Mathematical Analysis 13 (2006), 499-507.
[4] G. Kılıklı, On the solutions of a system of the rational difference equations, M.S. Thesis, The Graduate School of Natural and Applied Science of Selcuk University (2011).
[5] V.L. Kocic and G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht (1993).
[6] G. Ladas, Open problems and conjectures, Journal of Difference Equations Applications 4 (1) (1998), 93-94.
[7] M. Nasri, M. Dehghan, M.J. Douraki and R. Mathias, Study of a system of non-linear difference equations arising in a deterministic model for HIV infection, Applied Mathematics and Computation 171 (2005), 1306-1330.
[8] K. Uslu and E. Kilic, On the solutions and periods of non-linear recursive systems, Asian Journal of Applied Sciences 4 (1) (2016), 95-102.
[9] K. Uslu, N. Taskara and O. Hekimoglu, On the periodicity and stability conditions of a non-linear system, The First International Conference on Mathematics and Statistics, American University of Sharjah, UAE, 110 p., March 18-21, 2010.
[10] L. Xianyi and Z. Deming, Two rational recursive sequences, Computers \& Mathematics with Applications 47 (2004), 1487-1494.

